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                                            Аннотация
        
Данный тест по дисциплине "Иностранный язык. Английский язык." предназначен для студентов 4 курса  образовательных учреждений среднего профессионального образования по специальности: "Техническое обслуживание и ремонт автомобильного транспорта".  Тест является тематическим контролем  знаний студентов. Уровень подготовки базовый.

     
 Рекомендуемое количество часов на освоение программы дисциплины:

- максимальной учебной нагрузки обучающегося - 196 часов;

- обязательной аудиторной учебной нагрузки обучающегося при очной форме обучения - 166 часов;

- практические занятия - 166 часов;

- самостоятельной работы обучающегося - 30 часов.

       Целью тематического контроля  является оценка результатов изучения темы программы "Устройство автомобиля" , проверка теоретических и практических знаний и умений  студентов . Тест выявляет учебные достижения каждого студента и позволяет выявить самому студенту имеющиеся у него пробелы в знаниях и принять меры по их устранению.

      Тест рассчитан на 60 минут, первые 20 минут урока отводятся на подготовку к тестированию - повторение и закрепление  изученного лексико – грамматического материала .
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Критерии оценки

46-40 правильных ответов -  оценка «5»


39- 24  правильных ответов - оценка «4»


23- 15 правильных ответов - оценка «3»


менее 15 правильных ответов - оценка «2»
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Task 1    Match the word with its Russian equivalent:
1

1.1 power plant                   a) силовая установка;

1.2 power train                    b) ходовая часть;

1.3 running gear                  c) силовая передача.
 2                                         
2.1 brake                                a) двигатель;

2.2 clutch                               b) тормоз;

2.3 engine                              c)  сцепление.
3
3.1 chassis                             a)  шасси;

3.2 body                                 b)  капот;

3.3 hood                                 c)  кузов.
4
4.1 steering  wheel                a)  стеклоочиститель;

4.2 lubricating                       b)  смазка;

4.3 windshield  wiper            c)  рулевое колесо.
Task 2 Choose English terms below to match the following automobile parts:
1) the engine    2) the chassis    3) the body

a) fuel system;               d) running gear;                    g) heater;

b) accessories;               e) lubricating system;           h) windshield wipers;

c) cooling system;          f) steering system;               I) electric system.
Task 3  Choose the wright answer
1 The automobile  is made up of …  basic parts

a) one;          b) two;    c)   three.

2  Most automobile  engines have …  cylinders

a) five;           b) six;       c) seven.

3  Most automobile  engines work on … - stroke cycle

a) three;        b) four;     c) five.
Task 4  Finish sentences in the first column using corresponding endings in  the second column
	1. Тhe automobile is made up of ...
	a) a power transmission, running gear, steering and braking systems.

	2. The power plant is...
	b) the clutch, gear box, propeller shafts, final drive, differential and axle shafts

	3. The engine includes ...
	c) a hood, fenders and accessories

	4. The chassis consists of ...
	d) the engine, the chassis and the body

	5. The power transmission contains ...
	e) a frame with axles, wheels and springs

	6. The running gear consists of ...
	f) the source of power

	7. The body has ...
	g) fuel, cooling, electric and lubricating systems


Task 5 Match the following mechanisms with their descriptions
1. Mechanism, which is used to stop the car
a) Clutch;

b) Brakes;

c) Gearbox;

d) Steering system.
2. Mechanism, which is used to guide the car

a) Clutch;

b) Brakes;

c) Gearbox;

d) Steering system.
3. Mechanism, which engages or disengages the engine and the car wheels
a) Clutch;

b) Brakes;

c) Gearbox;

d) Steering system.
 4. Mechanism, which is used to change the speed of the car
a) Clutch;

b) Windshield wiper

c) Gearbox;

d) Brakes.
5. Device, which is designed to measure the speed of the car
a) Heater;

b) Windscreen;

c)  Kilometer;

d) Speedometer.
 Task 6  Choose the wright answer
· During ….. the intake valve opens and a  charge of fuel mixture flows into the     cylinder.
 a) the power stroke;               b) the exhaust stroke;

 c) the inlet stroke;                  d) the compression stroke.
· During ….. the inlet valve is closed and the  fuel is compressed by the rising piston.
 a) the power stroke;               b) the exhaust stroke;

 c) the inlet stroke;                  d) the compression stroke.
3.  During ….. both valves are closed, pressure rises in the combustion chamber, and the spark ignites the mixture.
 a) the power stroke;               b) the exhaust stroke;

 c) the inlet stroke;                  d) the compression stroke.
4. During ….. the  exhaust valve is opened, pressure is  released and residual gases into the atmosphere through  the exhaust  valve.
 a) the power stroke;               b) the exhaust stroke;

 c) the inlet stroke;                  d) the compression stroke. 
 Task 7 Complete the following sentences, choosing the correct version
1.  The internal combustion engine is called so  because fuel is burned...

a) outside the engine;

b) inside the engine.
2.  On the inlet stroke  …
a) the intake valve opens;

b) the intake valve is closed;

c) the  intake and the  exhaust valves are closed.
3. On the  compression stroke …
a) the intake valve  opens;

b) the intake valve is closed;

c) the  intake and the  exhaust valves are closed.
4. On the power stroke …
a) the intake valve  opens;

b) the intake valve is closed;

c) the  intake and the  exhaust valves are closed.
5. On the exhaust stroke …
a)  the exhaust valve opens;

b) the intake valve is closed;

c) the  intake and the  exhaust valves are closed.
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